

DIRAC EQUATION - INNER PRODUCTS OF SPINORS

Link to: [physicspages home page](#).

To leave a comment or report an error, please use the auxiliary blog and include the title or URL of this post in your comment.

Post date: 24 August 2023.

The four solutions of the Dirac equation in relativistic quantum mechanics are

$$|\psi^{(1)}\rangle = \sqrt{\frac{E+m}{2m}} \begin{bmatrix} 1 \\ 0 \\ \frac{p^3}{E+m} \\ \frac{p^1+ip^2}{E+m} \end{bmatrix} e^{-ipx} \equiv u_1 e^{-ipx} \quad (1)$$

$$|\psi^{(2)}\rangle = \sqrt{\frac{E+m}{2m}} \begin{bmatrix} 0 \\ 1 \\ \frac{p^1-ip^2}{E+m} \\ -\frac{p^3}{E+m} \end{bmatrix} e^{-ipx} \equiv u_2 e^{-ipx} \quad (2)$$

$$|\psi^{(3)}\rangle = \sqrt{\frac{E+m}{2m}} \begin{bmatrix} \frac{p^3}{E+m} \\ \frac{p^1+ip^2}{E+m} \\ 1 \\ 0 \end{bmatrix} e^{ipx} \equiv v_2 e^{ipx} \quad (3)$$

$$|\psi^{(4)}\rangle = \sqrt{\frac{E+m}{2m}} \begin{bmatrix} \frac{p^1-ip^2}{E+m} \\ -\frac{p^3}{E+m} \\ 0 \\ 1 \end{bmatrix} e^{ipx} \equiv v_1 e^{ipx} \quad (4)$$

In Klauber's section 4.1.5, he works out the inner product $u_1^\dagger(\mathbf{p}) u_1(\mathbf{p}) = \frac{E}{m}$. The other 3 inner products can be worked out similarly. We get (we are taking all spinors as functions of the same 3-momentum \mathbf{p} in what follows):

$$u_2^\dagger = \sqrt{\frac{E+m}{2m}} \left[0 \quad 1 \quad \frac{p^1+ip^2}{E+m} \quad -\frac{p^3}{E+m} \right] \quad (5)$$

so

$$u_2^\dagger u_2 = \frac{E+m}{2m} \left(1 + \frac{(p^1 + ip^2)(p^1 - ip^2) + (p^3)^2}{(E+m)^2} \right) \quad (6)$$

$$= \frac{E+m}{2m} \left(1 + \frac{\mathbf{p}^2}{(E+m)^2} \right) \quad (7)$$

$$= \frac{E+m}{2m} \left(\frac{(E+m)^2 + \mathbf{p}^2}{(E+m)^2} \right) \quad (8)$$

$$= \frac{1}{2m(E+m)} \left((E+m)^2 + E^2 - m^2 \right) \quad (9)$$

$$= \frac{1}{2m(E+m)} (2E^2 + 2Em) \quad (10)$$

$$= \frac{E}{m} \quad (11)$$

For v_1 we note that the first two components of v_1 are the same as the last 2 components of u_2 and vice versa, so we must have

$$v_1^\dagger v_1 = u_2^\dagger u_2 = \frac{E}{m} \quad (12)$$

Similarly, for v_2 , the first two components of v_2 are the same as the last 2 components of u_1 and vice versa, so we must have

$$v_2^\dagger v_2 = u_1^\dagger u_1 = \frac{E}{m} \quad (13)$$

The two pairs of spinors are also mutually orthogonal. For example

$$v_1^\dagger v_2 = \frac{E+m}{2m} \left[\frac{(p^1 + ip^2)p^3}{(E+m)^2} - \frac{(p^1 + ip^2)p^3}{(E+m)^2} + 0 + 0 \right] = 0 \quad (14)$$

$$u_1^\dagger u_2 = \frac{E+m}{2m} \left[\frac{(p^1 - ip^2)p^3}{(E+m)^2} - \frac{(p^1 - ip^2)p^3}{(E+m)^2} + 0 + 0 \right] = 0 \quad (15)$$

If one spinor's momentum is the opposite of the other, we get

$$u_1^\dagger(\mathbf{p}) u_2(-\mathbf{p}) = \frac{E+m}{2m} \left[\frac{(p^1 - ip^2)(-p^3)}{(E+m)^2} - \frac{-(p^1 - ip^2)p^3}{(E+m)^2} + 0 + 0 \right] = 0 \quad (16)$$

Also for opposite momenta, we get

$$u_1^\dagger(\mathbf{p})v_2(-\mathbf{p}) = \frac{E+m}{2m} \left[\frac{-p^3}{E+m} + 0 + \frac{p^3}{E+m} + 0 \right] = 0 \quad (17)$$

$$u_1^\dagger(\mathbf{p})v_1(-\mathbf{p}) = \frac{E+m}{2m} \left[\frac{-p^1 + ip^2}{E+m} + 0 + 0 + \frac{p^1 - ip^2}{E+m} \right] = 0 \quad (18)$$

$$u_2^\dagger(\mathbf{p})v_2(-\mathbf{p}) = \frac{E+m}{2m} \left[0 - \frac{p^1 + ip^2}{E+m} + \frac{p^1 + ip^2}{E+m} + 0 \right] = 0 \quad (19)$$

So we get the general result

$$u_r^\dagger(\mathbf{p})v_s(-\mathbf{p}) = 0 \quad (20)$$

for all values of r and s .

PINGBACKS

Pingback: Dirac equation - orthogonality of solutions

Pingback: Dirac equation - positive probabilities and negative energies

Pingback: Dirac equation in relativistic quantum mechanics - summary

Pingback: Hamiltonian density for the Dirac equation

Pingback: Hamiltonian for the Dirac equation

Pingback: Momentum of particles in a Dirac field